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Rewriting Multiplication Problems (visual) Name:
Write each array as a multiplication problem and solve. Answers
Ex) XXX XXXXXX 1) 000 2) % &
XXXXXXXXX oXoXe) * Ex 7%x9=63
XXXXXXXXX Q000 * '
XXXXXXXXX Q000 *
XXXXXXXXX Q000 % % 1
XXX XXXXXX Q000 % :
XRXXXXXXXX 00
oXoXe) )
oXoXe) :
3.
4.
3) #aaH 4 BPEPS 5) o
Yoo 4 PRBRR o 5.
A BRRRB @)
HHNH PP RRB O
YV PRRBRR ©) 6.
NN PPPRB O
V4 (@)
YO O 7
YO O '
8.
9.
6) o 7) AAAALA g) 000000000
o AAAALAA QOOOO0OQOOOO 10.
o AAAAAA QOOOO0OQOOOO
o AAAAAA QOOOO0OQOOOO
= AAAALAA 11.
o AAAAAA
AAAAAA
9 999999 10) ©99 1) €C€C<CcC«
VOOV Q 000 CCCcc«
VOOV Q cCqCaac
VOOV Q cCqCaac
PO99OOQ cCqCaac
cCqCaac
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535:: Rewriting Multiplication Problems (visual) Name: Answer Key

Write each array as a multiplication problem and solve. Answers
Ex) ¥XXXXXXXX 1) Q00O ) * %
HXEXXHXXXXX Q00 w % Ex 7%x9=63
HXEXXXHXXXX Q00 w % )
HXEXXXHXXXX Q00 w %
XEXXXXXXX Q00 w % 1 9x3=27
XXXXXXXXX Q00 * % )
XRXHXXXXXXX Q00
Q00 _
000 2. 6x2=12
3. 9x4=36
4, 6x5=30
3) Y4 4) BPRARBB 5) O0O0
YO D4 PRBRRB 000 5. O9x7=63
A HH BPRRBR (ONO]
W HYH BRRARR
Yo V4 BRBRB 6. 6 x10=60
Y BPBLRBS
VN4 (ONONONONONONG]
YO O0O0OO00OO0O0 7 7Xx6=42
V4 '
8. 4x10=40
0. 5x6=30
) DDDODODEEEED 7) AAAAAA gy 000000000
| AAAAAA COOQOOOOOD 10. 2x3=6
(| AAAAAA QOO OO0
(| AAAAAA QOO OO0
O AAAAAA 11. 6x6=36
] AAAAAA
AAAAAA
9 999999 10) ©99 1) €C€C<CcC«
LVAAVAVAVAVEV/ OO0 CdCdCCTC
A A VA VA VAV V/ CdCdCCTC
A VA VA VAV V/ CdCdCCTC
\AAVA VA VA VAV CdCCCQCC
CdCCCQCC
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